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Decode and Execute
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Programming Language
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Python Virtual Machine (PVM)
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1 # convert.py

Juio

2 # A program to convert Celsius temps to Fahrenheit ~~~7"7"°""""""°°°°°° > Dby

4 def main():

= celsius = eval(input ("What is the Celsius temperature? ")) L
6 fahrenheit =9 / 5 * celsivs + 32  TTTTTTTT > Uy

print ("The temperature is", fahrenheit, "degrees Fahrenheit.”)

LY e i |

main()

What is the Celsius temperature? 8
The temperature is 46.4 degrees Fahrenheit. > (A9
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False class finally is return

Mone continue for lambda try

True def from nonlocal while . 7 /’
and del global not with > sl sl Dbl
85 elif if or yield

assert else import Dass

break except in raise
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# this function definition starts a new block

e
def add numbers(a, b): /U/G@-L/u/ C++ 9 }9@ 5 (> JW
# this instruction is inside the block, because it's indented ’ ’ ’
c=a+h W{}g&www9w
# so is this one o
return ¢ Y (A
. 7. .
# this if statement starts a new block (Indentation) 9 ) 09,«/(/ 7>
if it is tuesday: ) ,/ s,
# this is inside the block syleiwl o JW yJ (adiws (sl p
print("It's Tuesday!") .
# this is outside the block! ZaliCe

print("Print this no matter what.")



